SECOND TERM Exam — 2018

MATHEMATICS - CLASS IX
BINOYI PHILIP ,GHSS KOTTODI -9446270923

a) 8+ 8=40+24=64 =8 x 8
3 5 15 15 3 5
by 1+ 1= b+ta=ab =1
a b ab ab

a) AB =12cm, BC=5cm
ie AC=VAB?*+B(C?)
=V12* +5%)
=V169 = 13 cm
a1G1QOD @RYOo = HANOMINMY ald:1 = 13/2 = 6.5 cm

(@@MQ=10-6=4cm
(b PM:MQ=6:4=3:2
iePN:NR=3:2

() JI
(b) ayoave x JI = 6J1

QI§oaMVo = 6 cm

(a) ez AVIMIEBo
(b) PB=12/2=6cm
BQ =5/2=2.5cm
PQ* = PB*+ BQ’
=6+ 2.57
=36 + 6.25 =42.25
PQ =V42.25=6.5 cm
ie aloeEBges Mlgo = 6.5 cm

@oo OA alo@e. OA @es elosniquacol BC

3 cm eREE®IGS O ¢HH@BMW QoMo QIO . b
ale@&. OA 151 alyoave AD alo@)d:.

BD, CD cwoztlo (168,
O

ABCD ©@26m” 010008 @Gy0luoyoalg @1EH06Mo.

T

A

(@) AQ:QC=2:3

(b)AQ=4cm
ieQC=6cm

(00AQ:AC=4:10=2:5

P(x) =x*-3x+2,Q(x)=3x+1
@Px)+Qx)=x*-3x+2+3x+1
=x*+3
(b) P(Y) + Q(x) + R(x) = 0
iex?+3+R(x)=0
ieRx)= —x*-3
(P1)+Q1)+R(1)=0




<A=<P,<B=<Q
ie A ABC @o APQR 90 M0300@168:06M6aR861,
ieAB = BC = AC

PQ QR PR

(a) 9 =10
PQ 20
PQ =18 cm

(b) PQ=2AB, QR =2BC, PR=2AC
APQR a3 sjgs0i’= PQ+ QR + PR
=2AB +2BC +2AC=2(AB + BC+AC) =2 X 30 =60 cm
(c) APQR 6 al0qgal’ = 4 x A ABC ©os aloqjgal”

=4 x30V2 = 120V2 cm?
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(a) <B =90°
(b)) BC=2x2=4cm
(0 QR =3 cm

11

(@) 8® alvomend Mige = 24/6 =4 cm
(b) @roo =4 cm
ajg8al’= 2ir =2 xn1x4=8m1cm
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(a) 3 @1Em06MeEBU3 Dene”
(i) AABC
(ii) AAPB
(iii) ABPC
(b) AABC ©o AAPB ®o «I@10em1 20w
<B=<P=90°
<A = <A (0a10@010® @36M)
ie AABC o AAPB ©o cvgu@leaememmgoa” ....(1) A
AABC 0o ABPC ©o aI1@10emao@3
<B=P=90°
<C = < C (9010@0100 E06mM)
ie AABC o ABPC ©o quguo@1es06meassoe. .....(2)
(1) 20 (2) 20 a11WeM1ajodd AAPB o ABPC @o auguo@lea:0emeassiam”
ie 3 @1eHMEBBGo  MVBUD@IEMIETNEBBSIET.
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®MIB1SBOM ERSBANG3 (@ 18H:96Mo QI

Cc
aBOMEs1jo VME” AUNEBBBHS AW LIosMIo AIOWYD:.
DWYLIo6MIEBIRUI &3lagam il O ca@mosan]
OA @oom @3 QJomoe alo@d
0]
500 60°
A / |
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(@) BC =10 cm
ie PQ =5 cm (8@ @1e:0emom1ead oane” QIUOEBBSOS
2WIMNRGHHU3 co2Elq {la) QO QIO
RANIVOTD AUNCHOM ald:®] GRVIRIYo)
(b) ABPR, AAPQ, A CQR, A PQR ma1 @ely@1es0emeasgosm”
A APQ 603 aloqjgal’= X
ie AABC @6s aloqgal’= 4x
(c) mvomomm@ldo PQRB @es aloalsal’= 2x

(d) @emoemo QI awimN@enud
cWIHla[laf GRGOMSO® OeNE"
@16B06MEBRUT af)SOMIG3 A,

AABC @5 ala:®] al0q|80)8s
LI OB
avomoam@lso PQRB
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(a) 10, 30
(b) 20. 10
(C) aemM@3 MVoAIYB:W X, Y GRYWIMI

2)+(@1) 2x=50
iex=050/2=25
x =25 (1) @3 ereoIallajoacd
25+y =40
y=40-25=15
)@ Mo ydhud = 25, 15
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(a) <DFC =650
(b) ABFE @o ADFC ©o a1@10em1ao@3
<E =<D =90°
<BFE = < DFC
ie ABFE @ ADFC ©o mugua@1e8:06meassaem”
ie BF = FE = BE
FC FD CD
ieBF = FE
FC FD
ie FE X FC=FD X FB

17

@ PxE)=x*+x+k,P(0)=1
ie0?+0+k=1
iek=1
(b) Q@) =x— 1
RX)=PX)xQ(x)=(x*+x+1)(x-1)= x*-1
©R(1)= 1°=1=0
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(a) ATSQ o3 c1vsEBgeS @RovdMIMWe =112 12
(b)SQ=6cm, QT=6cm, ST=3
aJg8al’=6+6+3 =15 cm

(c)AC=15cm
19 | (@) r=10cm
YoOmO] aloqgai’= JIr* = JI x 10* = 100JI cm?
(b) @roo = 10 cm
alyoavo = 20 cm
alé@emo = 20 cm
MD2I@EOm1eM B® Qoo a = 20/V2 cm
MD2I@EOmOM aloqlgal’ = a = (20/V2)* = 200 cm’
CaH(W’ §21Q) BINODIHA al0q |80l = YODOMIOHAG al0q |80l - MVD2IDOODIOMW aldqe 80l
= 100J1 200 cm?
20 | (a) <OCA =20°
(b) <ACB = 40°
(c) <AOC =180 - (<OCA + <OAC) = 180 — 40 = 140°
(d) <AOB = 360 - (<AOC + <BOCQ)
=360 — (140 + 140) = 80°
21 | (a) 9210l gomomlend ajgaai’= alyome x JI = dJI cm
(b) e yomomlead algoave =d + 2 cm
aieN© gJomomlead ajoaal’= alyoave X JI=(d + 2) JI cm
C) 2JQ80Jd-03 @AREIS8 QL@ {00Vo = QLW QYOO IO 2JQ80I - 621010 QYOO 1HA]
3 3O Y 3 adf Y 8
ajgsal”
=(d+2)JI- dI=2JIcm
22 | (a)<A=30°
(b) AOQC ®ser edemaud 30% 60° 90° aNmae@Imocd ] % ]
AW 1 : V3 : 2 ag)am @rowosmInwen1enwldleso . y
0OQ=3cm :
ieOC=6cm & CQ =3V3 cm 5
@RYOLBBUI DALIYNIV@TMIMI 8 3
OA=6cm,AP=3V3 cm N3 .
OP=3cm e
(c)AB =2 x AP =6V3 cm
CD=2xCQ=6V3cm
23 | ()
D_ C
2 /
AD =5 — DC =4
A 5 B A E
AB=8
(b) 8 cm mgom@d AB alogd.
9 cm MIgom1@ed AC 010af" A @ mlawe 5 cm
@R:®eel D Grswigoq|some. B cwozdla loga.
BC #8” cvmommono@) D @lejps ED alo@e. F / G

AE mgmoe EG oN®@oe 1m0 AEGF alogo.
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Px)=x+1,Qx)=x-1,Rx)=x+2
(a) S(x) = P(x) x Q(x) x R(x)
=(x+D(x-1)(x+2)
= x>+ 2x*—x -2
(b)S(1)=1*+2x1*-1-2=0

SC-1) = (-1 +2x (-1*-(-1)-2=0
S(-2) = (-2 +2x (-2)*-(-2)-2=0
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(@) EC=5cm
(b) <EDC =180 - (90 + x) =90 — x
(c) AEDC @o AABC ©o aI1@1nem1ajomd
<ECD =<BAC =x
<CED =<ACD =90 -x
ie A EDC @o A ABC ©o mugun@1ea:06meanssm”
ie BC = AB = AC
ED CD EC
ie BC = AC
ED EC
ie4 = AC
3 5
ieAC=20 cm
3
CE=5acm
AE*=AC*+EC?
= (20/3)* + 52
=400 + 25
9
=625
9
AE =25/3 cm
(d)CE: AC:AE =5:20/3:25/3
=15:20:25=3:4:5
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(a) <B=<C
(b) PD=6cm
(c) AAPC ©o ABPD @o a1@16emajo@d
<A=<D
<B =<C
ie A APC @o A BPD @po cvguo@lea06meaBssosm”
iePA = PD
PC PB
ie PA = PC
PC PB
PA X PB = PC?
(d) PA=9 cm, PC =6 cm
9 X PB = 6
PB =36/9 =4 cm




27

D 2cm C
2cm 3cm 3cm
A
dcrm B

8cm
28 | 2JIr x X =8J1
360
2rx 40= 8
360
r=36 cm
(@)2JIr x X=2xJIx36 x 100=20J1cm
360 360
(b) ajggai’= 2JIr= 2xJIx36 =72 JI cm
(€) at0aysal’= JIr* = JI x 36° = 1296 JI cm?
29 | (a)10a+b
(b) 10b + a

(c) 11(a+b)
(d) (iii) 11 o3 weMI®@OVIBNBR0

(e) 9(a—b) . 9 03 LM ®@OVIRIBE0
(f) 100p + 10q + r




